ANNOUNCED QUIZ #4 — ME 2030 —-SECTION 001 — Fall 2024
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This is an open book quiz. A scientific calculator may be used. An unsigned honors pledge will
result in a zero. Show all work.

1. Consider water flowing through a horizontal pipe as shown in the figure. Write an explicit
equation for D in terms of the variables (d, v, p1, p2,p). If p1=1 atm (gage), d= 1.0cm,
V =1000.0 cm®/s, and the maximum gage pressure the pipe can withstand anywhere is 1.7
atm, determine the maximum possible value ofj D.”™ B
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I HAVE NEITHER PROVIDED OR RECEIVED HELP DURING THIS QUIZ.
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